












deletion of 47 from the leaf node makes it underfull, now the leaf node
cannot be merged with the silibing node as, it if full so we redistrubute 
the nodes, the left most node that is 45 is brought to the right node

now 46, present in the parent node no longer seperates,
the two child nodes, so we correct it by changing it to 
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if we delete 46, the index entry 45 can be
merged with its' sibiling node

now the parent node is underflowing, it can now also 
be merged with it's sibiling, the search key value 
seperating them is the  value present in their parent's node
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now, the root node contains only one pointer
it can have atlease two pointers, so
the root node is also remove


